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1) A video game company can fit 983 boxes of games into a truck. If they have 984 full
trucks, how many games do they have total?

2) A candy store had 416 empty shelves. If each shelf can hold 522 pieces of candy, how
many pieces would they need total to fill up all the shelves?

3) The booths at the state fair make 869 dollars an hour. How much money would they have
earned after 779 hours?

4) A pallet of toggle bolts weighs 472 kilograms. If a warehouse has 221 pallets, what is their
total weight?

5) A cruise ship compartment can hold 747 pieces of luggage. If a ship had 352
compartments, how many pieces of luggage can it hold?

6) A farmer has 373 rows of corn. If he can get 467 ears of corn from each row, how many
ears of corn would he have total?

7) Edward was collecting cans for recycling. In 5 months he had collected 715 bags with 111
cans inside each bag. How many cans did he have total?

8) A school bought 439 boxes of computer paper for the computer lab. Each box had 342
sheets of paper inside it. How much paper did they buy total?

9) A vat of orange juice contains the juice from 142 oranges. If a company has 587 vats, how
many oranges would they use to fill them all?

10) A pizza chain uses 680 grams of cheese on their pizzas. If they sold 329 pizzas, how many
grams would they have used?

1. 967,272

2. 217,152

3. 676,951

4. 104,312

5. 262,944

6. 174,191

7. 79,365

8. 150,138

9. 83,354

10. 223,720

     

Solve each problem.

Finding Product (3 × 3)
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cans inside each bag. How many cans did he have total?

8) A school bought 439 boxes of computer paper for the computer lab. Each box had 342
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Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) A video game company can fit 983 boxes of games into a truck. If they have 984 full
trucks, how many games do they have total?

2) A candy store had 416 empty shelves. If each shelf can hold 522 pieces of candy, how
many pieces would they need total to fill up all the shelves?

3) The booths at the state fair make 869 dollars an hour. How much money would they have
earned after 779 hours?

4) A pallet of toggle bolts weighs 472 kilograms. If a warehouse has 221 pallets, what is their
total weight?

5) A cruise ship compartment can hold 747 pieces of luggage. If a ship had 352
compartments, how many pieces of luggage can it hold?

6) A farmer has 373 rows of corn. If he can get 467 ears of corn from each row, how many
ears of corn would he have total?

7) Edward was collecting cans for recycling. In 5 months he had collected 715 bags with 111
cans inside each bag. How many cans did he have total?

8) A school bought 439 boxes of computer paper for the computer lab. Each box had 342
sheets of paper inside it. How much paper did they buy total?

9) A vat of orange juice contains the juice from 142 oranges. If a company has 587 vats, how
many oranges would they use to fill them all?

10) A pizza chain uses 680 grams of cheese on their pizzas. If they sold 329 pizzas, how many
grams would they have used?

174,191 676,951 217,152 223,720 79,365

967,272 262,944 83,354 104,312 150,138

1. 967,272

2. 217,152

3. 676,951

4. 104,312

5. 262,944

6. 174,191

7. 79,365

8. 150,138

9. 83,354

10. 223,720

     

Solve each problem.

Finding Product (3 × 3)
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